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1. HESZE (p)el HIHZ=7l 421 AL HIH = R %QAX| 7SHA| 2.
O AlLtard - HlHtH = 1 / HIHZE) * 100 (%) = (1 /4) * 100 = 25(%)
O B : 25 (%)
Hl2s5= 6+ 2= SEYOMO HAHZHTIZO €Y Mz : 9)0 HHst= 2 AMZ(V)E WO 7|+
E S&BICL F, V= - kpb=E kpE H|g| &= E+&= Hlg 0|5, O 9= 1/kpE H[ZCH2tD StH, 25 H| &
O| MZ7|E LIEHHCE
2. O3 =l A7 JIAHR0 AIEE + A= HEIIE 371X 2t HEHY HSE MAL,
D Chs A o PBS 4 R R
A ;'l_ 5'31 A ‘.r_l f] ".'.I & E l.-l:l )
=IEV) ®
3. ZIM¢ gL SEHES 57IX| 2Al
O M2 MYI7|2 A-ALG = Aol ALRE0| &Lt
O THIIZEO|Lt #Y7E0| &0|s}L},
O NZO|L} FZ0| HdMo| AH FAE | XpX|BHCH
O &AM 20| 23 F2=540|Ck
O 9@=H|7} 17f0|Ct,
4. 7I2 3 m, M2 3 m, £ 200 mm ol WH Ho| QICt ¥ ¥HO| 2EXI7} 30 °C 0|11, Ho| ML EO0|
1.2 kcal/m-h°C ¥ uj, 30 27t o] #H %1}6}5 Ak (kcal)S Al LHSIHAI L.
O AAMIMY . S0tEF = {12 X (9/02)X 30} /2 =810 [kcal/h]
O & : 810 [kecal/h]
5. S X8 ZTHE 57X MA (T FHE 33+ Helstot)
O FEAH
O FeHGg
O 9dAHG
O EX™m
O AMOIEE
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8. 12 (24A1Zh 25 =&F0| 6000 kgo| 2Rt HAES| S+257t 20°CO|1, SY2E7} 60 °CO|CL.

£ AlLSHA 2.

d=29| HHEE S} (keal/h)

2H|E0| 0.998 keal/kg°C! H2, 0

4990 (kcal/h)

I = (6000 X 20 X 0.998 ) / 24

4990 (kcal/h)
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